R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, TX-4165

L
e D'R
* i L» {;‘g £ oy
g% B & U8
L . N T_D,‘? .2 Z z
.. Al Gl £ ) PPl
PRODUTCTS, 74' MAX. O.A. FRAME WIDTH ut SNLiE B2 3% £ea 2
), e, 8 H A —~ L2}
8811 West Market Street s ?0&29\,{1\ £eb 5
: s AV o~ o [E

Colfax, N.C. 27235 | Mo N R

I

. / / 2 3ok gk

Glazed Fiberglass Door % / : = o

/ / P o

"NON-IMPACT" g £ 8

INSWING / OUTSWING z % 28

é o [Cle}

— nh=

5 O &3

m -

s =) =Z L

T & 25

<< o) <O

: ; X X

< = o,

o © Iz

x % © 5 o

EVALUATED FOR USE IN THE STATE OF TEXAS : = 2 %Q

The Glazed Fiberglass Door system described herein complies with the 2006 % E‘j y % a
N
o~

International Residential Code (IRC), Sections R301 & R613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

LFS
BY

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

11/26/13|ADDED ARTICULATING SILL

REVISIONS

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS o
SHEET# | DESCRIPTION — S
1 Typical elevations, design pressures & general notes XX LIP LITE INSERT INSWING +30.0 -35.0 +40.0 -40.0 +25.0 -30.0 .
2 Astragal details (Ultimate Flip Lever) ol — %
3 Astragal details (Ultimate Multi-point) XX LIP LITE INSERT | OUTSWING +30.0 -30.0 +40.0 -40.0 +25.0 -25.0 oaTe: 7,/03/12
4 Astragal details (Ultimate Hurricane) ScAle:  N.T.S
5 Door panel details (flush glazing) XX FLUSH GLAZED INSWING +35.0 -35.0 +40.0 -45.0 +40.0 -45.0 DWG. BY: JK
6 Door panel details (lip lite insert glazing) CHK. BY: LFS
7___ |Horizontal cross sections XX |FLUSH GLAZED | OUTSWING | +35.0 | -35.0 | +40.0 | -40.0 | +40.0 | -40.0 DRAWING NO.
8 Vertical cross sections TX—4165
9 Frame anchoring
SHEET _1 oF _9

© zo12 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ 9NIging 'm°y 210z ©

- SNOISIAFY
Skl S et g0 ocias (3071 o0z o) g g ol | ol o
L616'659°CLE 'ON ®uoyd i S41 TS ONUVINJILYY a3aav|cL/9z/LL| | ﬂ %) VJA L %
G6SEE "4 OSMIPA OSZ Xog ‘O'd \Sg«. ‘AT8NISSY HO Ldvd | S47[ JUNLdVO Nid TvOVHISY MIN aav| si/s/s | ¢ 19} M =1 = S
“ONI ‘SINVLINSNOD ONITINg % g J 2_
N 15|
£Z1YOL# ‘3'd Svxal VdNANT = M 2|5 . &
‘3'd PIWYDS 4 uopuk :Ag peJdpde.sd sjuswnoog :10NAaodd W w W M m M

WOLLOg

~

s g wa] ]
1.75" —— |=—

26.0"

2.25" —’-‘ —~—

33.75"

35.5" LATCH

41.0" DEADBOLT

[ :wN ’ F

48.0"

52.0"

=

60.0"
63.0"
1.82"
0.063" ——| [=—
£
éi 1
Astragal Section

76.0"

W59'C

93.75"

HARDWARE LOCATIONS

ANCHOR SCREW LOCATIONS

|~—1.75"
—7.5"

Bieas
= 3

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

dOl

(2)#6-32 X 5/8" MACHINE SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

PFH WOOD SCREWS

(2)#8 X 1-1/2"

(2)#6-32 X 5/8" MACHINE SCREWS

Aluminum

Lower Bolt Sleeve -
ULTIMATE FLIP LEVER ASTRAGAL

T~ Aluminum Body

= DN ———
IR\ eee—

% T\

Upper Bolt Sleeve - Aluminum

ZZ 'BMp £9-p9TH-X L\WuanD\sBuImeIg\0L§ - IAL\SUT 4O 1daq sexa\ININVINYId eInpua\siuaiD\Y



R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, 3.2

=

Upper Bolt Sleeve - Aluminum

Upper Latch - Reinf Resin

R

(2)#6-32 X 5/8" MACHINE SCREWS

Latch Actuator
Steel

Lower Latch - Reinf Resin

Aluminum Body

Lower Bolt Sleeve - Aluminum

ULTIMATE MULTI-POINT ASTRAGAL

(2)#8 X 1-1/2"

(4)#8 X 3" PFH WOOD SCREWS

PFH WOOD SCREWS e = - = =~ — S %
2.25" —»I —~—
33.75"
48.0"
520"
60.0"
63.0"
B =
Ql 76.0 g
93.75" )
=3
ANCHOR SCREW LOCATIONS
Upper Latch Lower Latch
I =2 — : FlE — a1 = —e [ |
f=—1.75" 175" — |=— .
7.5
7-5" 26.0“
35.5" LATCH
i 46" DEADBOLT
Upper/Lower Bolt Actuator Lever - Zinc HARDWARE LOCATIONS
(2)#8 X 1-1/2" PFH WOOD SCREWS
(2)#8 X 1-1/2" PFH WOOD SCREWS
1.82"
T
(2)#6-32 X 5/8" MACHINE SCREWS :
un
N
®
0.063" —=| = —
4
C E_ L

Astragal Section

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA
ASTRAGAL DETAILS
(ULTIMATE MULTI—POINT)

PRODUCT:

LFS
BY

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

11/26/13|ADDED ARTICULATING SILL

2
1

NO.| DATE

REVISIONS

oate: 7/03/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4165

SHEET 3 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, 4.2

41.5"

PUNCH OUT ~\

—— .

2.75" — —— 2.50"
3.75" 8 3.63"
10.75" ~—10.50" ——
e 18.75" ———— 18.50"
- 26.75" 26.50"
ANCHOR SCREW LOCATIONS =
5 :
= ()
(-]
.=|-J | O ol Yol gL | T -
< 10.5" ! 35.5"
<)': 8'-0" ALUMINUM ASTRAGAL ASSEMBLY
By Endura Products
BOLT RETAINERS
. 19.63" s i g ALUMINUM ASTRAGAL
|[| -4 L | i SLIDE BOLT ROD
T DEADBOLT STRIKE #8 X 3/4" PFH WS
SLIDE BOLT ROD VIEW A-A PLATE J
MATL: Steel Aluminum Astragal Assembly ”
#8 X 3' PFH WS < l

1.78"

ULTIMATE HURRICANE ASTRAGAL

2.65"

fheins

—=—0.50"

r—»t» 1.63"
BOLT RETAINER
MATL: 9-3/4" Aluminum

LATCH STRIKE PLATE

LATCH AND DEADBOLT DETAIL

ui
QR
53 £ oy
.gv- 0 wwn
B’ )] [N o]
S LB ze
0 ui OmM o'l‘
2 £ N Bu
'Y i
- o
c L"v- e =
S E o 2
o S 22
gE Sto 9@
2 Jdpg0 0k
534 w&
0~ - W
Zowm otz
3 gn X o
) OWN= pi
(] (4
o O 3Z u
. §%¢ 9%
=4
g_ :’do [a]
¢ 3Bok &k
o 8§
2 )
5 2
o
3 =
o
[a]
o
St
<O
o
<
c [, o5
) > §|I
S |3 3w
L = &,:D)._
LJ DS(
A GE
s <l <3
o
(&) fss
= o
o &
x <
o o
n|n
]
Ly
5
=
Z
O-}
J
£%
%)
o |Z
HElS
R =
<|g| (2
K >
=R S
0o
<E o
=
Sl<
Z(a
w
Y[=)
ala
<<
™
N
NS E
<
RN
N[e
oATE: 7/03/12
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4165

SHEET 4 oF 9

© 2008 R.W. BUILDING CONSULTANTS INC.



R:A\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, 5.2

STILE
(LAMINATED WOOD)

~—1.75" ——

1.6"

LOCK BLOCK
(12.0" HIGH)

35.75" MAX.

PANEL WIDTH

21.0" MAX |

D.L.O. WIDTH

—

79.0" MAX

D.L.O. HEIGHT
|
l

95" MAX. DOOR
PANEL HEIGHT

MASONITE
Flush glazed
(fiberglass)

EXTERIOR

STILE

X

(LAMINATED WOOD)  \

INTERIOR

1.6"

/"1 "\ HORIZONTAL CROSS SECTION

&/

EXTERIOR

M

GLASS BITE 3/4"

POLYURETHANE SEALANT

— 1.0" NOMINAL GLASS THK.

1/8" TEMPERED GLASS

INTERIOR

G2

GLAZING DETAIL

Flush Glazing

AR SPACE

N~

\1/8" TEMPERED GLASS

STEEL SPACER

TOP RAIL
(WOOD COMP.) ~ ™\ / /

0.9" <——|
.
"y
e —~
e - U v
wevetss,
— . tee i
o / .

FIBERGLASS SKIN

(0.075" MIN.) \ : :; ;

INTERIOR EXTERIOR

FOAMCORE —_ ||~ =

(POLYURETHANE )
y o
BOTTOM RAIL ea
(WOOD COMP.) ™S
\_ \\
N

- 1.75" —

@ VERTICAL CROSS SECTION
5

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

2]
=
<o
L=
< aN
[0 3 45
) S| WO
a = =
> g =x
W o 0
o
<| ok
B e 8
(@]
3 )
o e
@ <
[s o
0 U)>_
] ] 35
W
©
S
=
<
e
2|=
| |
O (=2
~J
I|Z| o
= =
< [%2]
['e
=S a
0|0
<= |
o
=
=[<
Z|a
w
ola
ala
<<
M
&N
NSE
<
NN
—lo
NI=I=
oATE: 7/03/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4165

SHEET 5 oF 9

© za12 R.W. BUILDING CONSULTANTS INC.



L
aq
8 g5 B
Lt £ 2 U
STILE . STILE 54 Sy 6B %:
(WOOD COMP.) \ 2.09 INTERIOR (WOOD COMP.) TOP RAL Zof NS 1
e ~: Y e %
N (WOOD COMP.) 5 52 Loa 27
— : Il , Sul ‘W Zoo 5§
? ———— 71 . ,.\l. 7 A, 5k HEQ BE
= Sl -' / A - 235 E}E
= e S| ‘ Ry -
2 \ —— 1 S Uk WS Rt g8 g2
— § == . § ‘ % Qh{.&i‘ _.;‘\f,\-\::* by g t § ou
‘ \ ———— $ / ) 28%
1 5 _ 5 g%g "o
& & 562 Bu
! e AE LR — r nox Ik
14 EXTERIOR 1.6" ~ e s X 5B
FIBERGLASS SKIN s : @% 9k
LOCK BLOCK (0075 MINY [l : o
(12.0" HIGH) i 8
/"1 "\ HORIZONTAL CROSS SECTION
& G
n=Z
=N
=3
.='\"§'i'\'i'y'i'\'i'\' AW, '-QU O
35.75" MAX. s .k
PANEL WIDTH 2 |3 29
Z s <=
/) 0
21.0" MAX 4 2 ochd
O L, BT | INTERIOR EXTERIOR - < 8
S #6 X 1-1/2" PH SMS P — 5 x| Sa
/4 8 =
< 6 > € -
GLASS BITE 1/2" & &
INTERIOR €L
~|
———1/2" NOMINAL GLASS THK. =
- - o
A / 1/8" TEMPERED GLASS RS E
) \,’i——AIR SPACE g
= ) FOAM CORE 2|2
85 %0 ] N 22| 6
2 EX NIl 6 STEEL SPACER £ 2 @
2 SO Esl >
=2 K EXTERIOR Q'SO SEALANT AR| |z
D 2|
< LOW TACK SEALANT BN
L
[a] Ia]
BOTTOM RAIL SIS
GLAZING DETAIL =
Gl Lip Lite Insert Glazing (WOOD COMP.) x i o
=| L
D | 1
SEE
MASONITE I oate: 7,/03/12
Insert glazed ) SCALE:  N.T.S.
(fiberglass) DWG. BY: JK
CHK. BY: LFS
/"2 VERTICAL CROSS SECTION BRARE 7oz
6/ TX—4165
SHEET _6 oF _9

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, 6.2

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, 7.2

1/4" MAX.

0.15"
|=— C'SINK
(TYP.)

L4

e

2X FRAMING

SHIM SPACE
EXT. SHEATHING 7

(G>=0.42) —\

,— JAMB

P

#10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

(QEBD 650)

EXTERIOR

/4

DRYWALL -/

#8 X 2.5" PFH WOOD SCREW //
#8 X 3/4" PFH SMS

4"HINGE

7“1\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

\ #8 X 1" PFH SM$

INTERIOR

©) 4/?

|——— DEADBOLT: KWIKSET SIGNATURE SERIES

(980/985)

| LATCH: KWIKSET SIGNATURE SERIES

(991)

CORNER PADS (TYP.)

/

WEATHERSTRIP

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/ DOOR PANEL

\\

N

z

#8 X 3" PFH WS

#8 X 1"PFH WS

m HORIZONTAL CROSS SECTION

\7/

4y

LN

o 0

Yo 14

Eg e 4

§: B Z

0w OmMm o

.o 4 z

[ ifa L

c ﬂ‘ - J

5 o <
Z9y 2Z

e <22 o

s FTWH =

2 Jgo 0
=] y 0
>m
0 -
ZOow® o

5 SR. &

@ s o
O xz

k) 0 L

(4 Zmo (o]
o ¢

g_ 3.5 o

) S50 &

= mono <

o o

° ;S o

L nd

[=

[ e;

E g

= |

[3)

o]

o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
HORIZONTAL
CROSS SECTIONS

PRODUCT:

LFS
BY

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

11/26/13|ADDED ARTICULATING SILL

NOJ| DATE

2
1

REVISIONS

oaTE: 7/03/12

scaE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4165

sHEET 7/ oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, 8.2

— ol 2X FRAMING i
/>< (G >=0.42) s Py £3 2 o
4 r, o Py et =58 = 0
| EXTERIOR // INTERIOR FAx Ex g ud
1 : fag s I ] s =
23 ;L; 0w g (2] (2') |
EXT. SHEATHING 1 A DRYWALL G s 2y ad
) 2, DOOR PANEL 574 53 £ga 3
Ay \ ;v) Ti z é 3’; sg
) e ) ENDURA DOOR SWEEP Gk, > Jsgs 8%
’ | {—#10X 25 PFH (DBK-ZAC) i Z e 2o b
1 WOOD SCREW ENDURA THRESHOLD DTN s 887 8g
1/4" MAX. 4] . (Z-SERIES INSWING ARTICULATING si ) 85 n QX2 ,°
SHIM SPACE — ~__ fflLl - o SILL w/ PIN CAPTURE) ) e §%p 98
ibZa #ZACL4565 (shown) e § 592 gpm
o> a moo <
Cu= @l
L S E
c
DOOR PANEL —{ { : @% % b
HEAD § %)
ENDURA WEATHERSTRIP S =
(QEBD/PE 650) S 2
Ll
EXTERIOR W INTERIOR #10 X 2.5" PFH WOOD SCREW < ;
1/4" X 2-3/4" ELCO OR § S
ITW CONCRETE SCREW S
1"\ VERTICAL CROSS SECTION o ©
\8_/ Qufsving shown - nswing ("5 "\ VERTICAL CROSS SECTION ) 3
w Inswing configuration g §
2
o
1/ /i
INTERIOR EXTERIOR EXTERIOR INTERIOR EXTERIOR INTERIOR ol

DOOR PANEL
ENDURA WEATHERSTRIP x

ZOB4565FN (shown) ENDURA THRESHOLD

ENDURA THRESHOLD \

(Z-SERIES INSWING ADJUSTABLE)
TAI4565FN (shown)

(QEBD/PE 650) DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \
(Z-SERIES OUTSWING) (DBK-R) \

(Z-SERIES INSWING ARTICULATING)
ZACA4565FN (shown)

DOOR PANEL
ENDURA DOOR SWEEP \
(DBK-AC)
/ .

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

/"2 VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4"ELCO OR

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4" ELCO OR

ITW CONCRETE SCREW ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

/“ 4\ VERTICAL CROSS SECTION

W Outswing shown w Inswing configuration

w Inswing configuration

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

11/26/13|ADDED ARTICULATING SILL

2
1

NOJ DATE

REVISIONS

DATE: 7/03/12

scAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4165

SHEET 8 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 570\Drawings\Current\TX-4164-67.dwg, 9.2

s o 2X framing (by others) e o
0O6< SFETR £
% 2 a ”.: S :: %'g_ n g%
LO% ¢ 6" : i it £* B 22
- o M o I —~— St iEG AU S8 BT
s 8 — (TYP.) ; NG i & 2w Bu
(TYP.) & Astragal Strike Plate M hiQ io o= = 45 @ L
* —| = qve) * @ Head Jamb ;;o fein 52 2.5 :Z.;':
— — . Swi 7 iz io BH &3 o0
| SEE HINGE T NRCT I o {0 2 J5¢@ gg
T8 CEIAL ] I~ \ ‘I T , (o4 G, 19} g2 BE
== LN = 23, H ST Rt A 2 o
" #10X 25" PFH DETAIL 1 o X e & 88 kR
:3 WOOD SCREW _:_o g N \ T AasAN _g 2 g Zo LSE
@ TYP. @ HEAD = ] g . ¢ .©°
(AND JAMBS) #10 X 2.5" PFH WS & 568 fu
3 * a moo g 5
- s — m
% | DETAIL 1 : R
0 X N e 2 &
0 EEB\ % e% éo
[}
o
B » —& 3 #8 X 2-1/2" PFH WS
% a/%
® ||
- SEE HINGE ' " L s < o
DETAIL 2 #BX1"PFHWS <o | el ™~ 48X 3/4" PFH WS =
T~ e x e HNGE & =
B | B i .35
\ S |3 =
L E L
/ | : HINGE DETAIL 1 o =
o o) <| oz
R * DETAIL 2, 3 OR 4 N o s
O @
/ — = o
. o —
i 0 —t \ i |5
#10X 2.5" PFH WOOD SCREW |~ #EXZUZTPHWS Rleks
4 (IYH hy 1/4" X 2-3/4" ELCO OR o [ .:\ = =
" (TYP. - [TW CONCRETE SCREW . £ H S B
HINGE JAMB ~— 4P (TYP @SILL) #EXVPPHWS <o Hlo JF=r= #8 X 3/4' PFH WS 2
-_— .\ ALl n <
~— 4"X 4" HINGE 3|
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A’)‘(’fHOR’NG \) 2|5
CONCRETE (MIN. 3000 PSl) o %
WOOD (G >=042) HINGE DETAIL 2 3% 13
3| @
< 8 [0l
HE
Z|Io
CONCRETE ANCHOR NOTES: 2 ng
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW = :
edge distance to mortar joinfs. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR 21
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to [TW CONCRETE SCREW 1S E
maintain the min. edge distance to mortar joints, additional concrete anchors 0 NN
! Idifion: ) 1/2" DIA. HOLE (IN CAP)
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2 DI/\\. HOLE = S
N —
> Pz
MIN, CLEARANCE | MIN. CLEARANCE ; P ey - - ASRAGALPIN  [owte: 7/05/12
- | T 3 b CAPTURE scue N.T.S.
rw s b el R R . iy COMPONENT e o UK
, " " " " CHK. BY: LFS
TAPCON® | 1/4 1-3/4 2-/ 8 DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 TGOS
ELCO . " . . Outswing Inswing Inswing Inswing TX—4165
uLtRACON®| 1/ 1-3/ 1 8
SHEET _9 oF _9

@ 2012 R.W. BUILDING CONSULTANTS INC.




